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Using Degrees & Radians
Find the length of each arc
Round your answer fo the nearest tenths place

ANSWER KEY

Find e fength of AB Find the length of AB |

Find The lerg of AB
B

1 120

e | “Frnd The lengin of AB

Fl”d the longih of AR
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nal places. (use m=3.14)

2)

Radius=__ 0 = Radius=__\U Radius=__ |1
? : , ¢ ', | i
Central angle=__| 90D Centralangle=_55 Central angle =__(,

Areaofasector=_59 (,iy 4+ Areaof asector=“JLi, |4 oY Area of a sector =

S 0 = (3.149)(30) © T ' g -
T IR T ([

= 190" e 2 5 P j

Find the arc length for each sector. Round the answer to two decimal places. ( use n=3.14) ™
- 1) 2) z % 3) Y
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